REF 5 AR M5 B e 8
HeRfik B

Pz R T HA&GIE 3 9

shh
o— K fhh
30100 [V A
Y3002 |=# (A1)
31200 |[LiBE
31700 |F ¥~
31800 [1EH M AE
31950 |z
31900 |[fa¥

34200 |

34500 |B'—= o
35220 | X S 0HH
Y3033 | 22T
34930 | LA >

34980 |~b ¥
34800 |3< 5

21011 (A7 L —%)
21030 | KI€F
71032 | F5€F (F)
71160 \B93E (1)
71286 |7 u—H L
Y3048 | T v ¥ 2 v O
30100 |72V 2 A
30100 |72V 2 A
30200 | 724

30300 | A2

31100 |93

33500 YT A
33810 |HHEE
37440 | b
Y5005 |4 KEAN
32600 | #%§

31700 | % ¢~
31800 [IE 5 M A
31950 A&

31900 | &

34400 | k= b

34400 | b~ b

34571 [ AT U A ()
4572 (AT Y H (#H)
36200 |44

36600 |
37200 | L x 5 A

Ry

3L
LK
2L

IS

clt

F2WMOMRIZLY |

15/

50

11

40|

13

10

110

180

F—

B S S )

90

60

20194£11H05H %

T BARMTEETS S

REXE IR B &)
TRROEBVHELET,
G
o - A
2% (1) s el | PEH | (EAD
864 76/ 76 20BN 15K
12,452 1,620,  1,620] 389/ |12kg
2,592 86 86 86N 1303k
3,024 864 756 324| B 54—
2, 754 108 76 76| B [303k
2,160 216 216 216| BP9 103
3,629 864 864 864|Ey kg
2,722 130 76 3208 |40fd
1,561 356 356 335 BN [5ke
3,510 404) 1,404 1,404 3kg
36, 288 216 54 32[BN |400kg
3, 658 97 91| 65BN BES
1,080 43 43 27| B W 304
1,188 119 119 19| B 107> b
45,870 99 99 66 557 5104
2,046 61 61  22/BA 48K
990 28 28 11BN oK
1,089 3 3 3EA 3304
2,750 99 99 . 66BN 347
4,356 396 396 396 | k&P 11kg
1,890 594 378 ST8|ERE 4y —2
1, 296/ 130 130 130[BRB 10K
810/ 16 16 16 BERE 50K
12, 204 188 1,080  1,080|## 14— 2
10, 206 972 864 810 BERE 12 —2
907, 54 54 22[fEM 2488
2,376 119 119 119 BERE 208
1,793 896 896 896 | FE 2 5 20— A
3,132 566 1,566 1,566 K4y 25—
324 32 11| 11| %2 [ 20%%
5,292, 756 756 162 ERE 134 —=x
6, 048 108 108 86| EIEE 0%
7,571 296 1,296, 1,188 K4y 65—
5, 022 540 486 486 BEVEE; 103 (500)
6,739 140 140| 140 | fE A 484351
540 540 540 540\ K5y 17— 2
983 140 140 | 140 2] 18
907 130 130| 130 | £ [E] M
10,692 1,188 1,188 1,188 dLifisH 97—
7,344] 2,484 2,484  2,376/dt¥EE (34 —=
2,160 1,080 1,080 1,080 5[ 247 — %



sh
JV—=r =T LR

AN
A LW
IS

=3
A

FHIE

BB

SRLHLE

Bk

Gy
AV

7 £ ‘/7 7

LEY
AL

iz L

R

2L

w

3L

okt FEffi &
(kg) &4 (1) B i E
3 1,944 1,944 1,944 ki
0| 1,296 648 648 B
4] 3,132 86/ 76 I
8 3,370 86 86 1
4 1,944 97 97 BV
2 648 EIE i
1 3,780 540 486 K4y
6 5,022 113) 54 e
150 22,572  1,728] 1,512 1A
10 1,404) 1,404 1,404 =15
20 3,132) 1,620, 1,620 FELE
15 9,180 9,180 9,180 FU
14 3,672) 38 22| |7y
23 5,508 1,836 1,836 AL
15 6,480 3,240 3,240 FrEk L
1,556 295, 903 ’ i

2/2




